Quick Quiz VI

. The 6™ inning starts with the home team leading, 6-4. Just after the visiting team hits a
grand slam, the game is delayed and eventually ended due to lightning. The league has
adopted no special halted game or game-ending rules.

Home team wins, 6-4

Visiting team wins, 8-6

By rule, the game is suspended

The coaches and umpire-in-chief will confer to determine if the 2 teams will
resume the game at a later date
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. 2 strikes on B3, which of the following tipped balls result in an out?

a. Ball that hits the dirt before it is tipped and is caught by F2

b. Ball that hits the dirt after it is tipped and is caught by F2

c. Ball that goes from the bat to F2’s mask and is then caught by F2

d. Ball that goes directly to F2’s glove, deflected into the air and is caught by F1

. R1 and no outs, F1 from the stretch fails to come set. B1 attempts to bunt and pops the
ball up to F1. F1 ten throws wildly to 1% in an attempt to double off R1. R1 advances to
2" on the errant throw.
a. The ball is dead immediately when the balk is called
b. The ball is dead when the pop up is caught
c. The ball remains live since F1 threw the ball away
d. The offensive coach has the option of taking the play or the balk penalty

R1 and one out, B1 hits a pop-up to shallow center field. F8 camps under the ball but
then intentionally drops it. F8 then throws to F6, who tags 2" base for an apparent force
out. F6 then throws to F3 to retire B, who did not run because he was angry he popped
the ball up.

a. R1isoutat2"™

b. Blisoutat1®

c. B1is out because of the intentional drop and the ball is dead

d. R1 returns to 1% because of the intentional drop



